

FAIRGROUNDS ROAD AT CENTRAL VALLEY ROAD INTERSECTION IMPROVEMENTS						
KITSAP COUNTY		BID TABULATION			PROJECT	3655
DEPT. OF PUBLIC WORKS				DATE	7/7/2016	
PREP:	ewn					
CKD:						
					ENGINEER'S ESTIMATE	
#	QUANT.	UNIT	DESCRIPTION	UNIT PRICE	TOTAL PRICE	
1	1	L.S.	MOBILIZATION	\$119,210.00	\$119,210.00	
2	0.85	ACRE	CLEARING AND GRUBBING	\$25,000.00	\$21,250.00	
3	1	L.S.	REMOVAL OF STRUCTURE AND OBSTRUCTION	\$15,000.00	\$15,000.00	
4	1	L.S.	PROTECTION AND SUPPORT OF EXISTING UTILITIES	\$3,000.00	\$3,000.00	
5	1	EST.	FORCE ACCOUNT POT-HOLE UTILITY CROSSING	\$2,000.00	\$2,000.00	
6	300	L.F.	SAW CUT AC PAVEMENT	\$4.00	\$1,200.00	
7	6850	S.Y.	REMOVING ASPHALT CONC. PAVEMENT	\$6.00	\$41,100.00	
8	2425	C.Y.	ROADWAY EXCAVATION INCL. HAUL	\$22.00	\$53,350.00	
9	20	C.Y.	UNSUITABLE FOUNDATION EXCAVATION INCL. HAUL	\$35.00	\$700.00	
10	1130	C.Y.	EMBANKMENT COMPACTION	\$5.00	\$5,650.00	
11	40	TON	SPECIAL BORROW INCLUDING HAUL	\$30.00	\$1,200.00	
12	200	C.Y.	DITCH EXCAVATION INCL. HAUL FOR BIORETENTION CELL	\$20.00	\$4,000.00	
13	1	EST.	APPROACH EXCAVATION & EMBANKMENT COMPACTION	\$2,000.00	\$2,000.00	
14	9	EACH	ROCK PROTECTION PAD	\$500.00	\$4,500.00	
15	2	EACH	ADJUST MANHOLE	\$500.00	\$1,000.00	
16	6	EACH	CONCRETE INLET	\$1,200.00	\$7,200.00	
17	9	EACH	CATCH BASIN TYPE 1	\$1,400.00	\$12,600.00	
18	4	EACH	CATCH BASIN TYPE 2 48 IN. DIAM.	\$3,300.00	\$13,200.00	
19	1	EACH	BEEHIVE GRATE AND FRAME	\$350.00	\$350.00	
20	15	L.F.	CL. V REINF. CONC. STORM SEWER PIPE 12 IN. DIAM.	\$50.00	\$750.00	
21	698	L.F.	CORRUGATED POLYETHYLENE STORM SEWER PIPE 12 IN. DIAM.	\$35.00	\$24,430.00	
22	111	L.F.	DUCTILE IRON SEWER PIPE 12 IN. DIAM. FOR STORM	\$80.00	\$8,880.00	
23	3250	C.Y.	STRUCTURE EXCAVATION CLASS A INCL. HAUL FOR GRAVITY BLOCK WALL	\$25.00	\$81,250.00	
24	1	L.S.	SHORING OR EXTRA EXCAVATION CL. A	\$10,000.00	\$10,000.00	
25	2885	TON	CRUSHED SURFACING BASE COURSE	\$30.00	\$86,550.00	
26	800	TON	CRUSHED SURFACING TOP COURSE	\$32.00	\$25,600.00	
27	2160	TON	HMA CL. 1/2 IN. PG 64-22	\$95.00	\$205,200.00	
28	8	EACH	ASPHALT RAMP TRANSITION	\$600.00	\$4,800.00	
29	1	L.S.	RELOCATE IRRIGATION SYSTEM COMPONENTS	\$800.00	\$800.00	
30	110	C.Y.	TOPSOIL TYPE C	\$60.00	\$6,600.00	
31	160	C.Y.	TOPSOIL TYPE A FOR BIORETENTION CELL	\$60.00	\$9,600.00	
32	25	C.Y.	COARSE COMPOST	\$60.00	\$1,500.00	
33	8	EACH	ADJUST VALVE BOX	\$300.00	\$2,400.00	
34	0.3	ACRE	SEEDING, FERTILIZING, AND MULCHING	\$8,000.00	\$2,400.00	
35	500	S.Y.	BIODEGRADABLE EROSION CONTROL BLANKET	\$5.00	\$2,500.00	
36	1	L.S.	EROSION/WATER POLLUTION CONTROL	\$15,000.00	\$15,000.00	
37	300	EACH	PLANT SELECTION SLOUGH SEDGE (CAREX OBNUPTA)	\$3.00	\$900.00	
38	200	EACH	PLANT SELECTION SPREADING RUSH (JUNCUS PATENS)	\$10.00	\$2,000.00	
39	130	EACH	PLANT SELECTION DOUGLAS IRIS (IRIS DOUGLASIANA)	\$25.00	\$3,250.00	
40	35	EACH	PLANT SELECTION PACIFIC NINEBARK (PHYSOCARPUS CAPITA)	\$25.00	\$875.00	
41	100	EACH	PLANT SELECTION SLENDER RUSH (JUNCUS TENUIS)	\$10.00	\$1,000.00	

42	150	EACH	PLANT SELECTION COASTAL STRAWBERRY (FRAGARIA CHILOE)	\$10.00	\$1,500.00
43	150	EACH	PLANT SELECTION WESTERN YARROW (ACHILLEA MILLEFOLIO)	\$10.00	\$1,500.00
44	135	EACH	PLANT SELECTION SWORD FERN (POLYSTICHUM MUNITUM)	\$25.00	\$3,375.00
45	75	EACH	PLANT SELECTION OCEANSPRAY (HOLODISCUS DISCOLOR)	\$25.00	\$1,875.00
46	75	EACH	PLANT SELECTION TALL OREGON GRAPE (BERBERIS AQUAFOLIA)	\$25.00	\$1,875.00
47	175	EACH	PLANT SELECTION FRINGECUP (TELLIMA GRANDIFOLIUM)	\$25.00	\$4,375.00
48	25	EACH	PLANT SELECTION FLOWERING CURRENT (RIBES SANGUINEUM)	\$25.00	\$625.00
49	25	EACH	PLANT SELECTION PACIFIC WAX MYRTLE (MYRICA CALIFORNICA)	\$25.00	\$625.00
50	25	EACH	PLANT SELECTION EVERGREEN HUCKLEBERRY (VACCINIUM OXYCOCOS)	\$25.00	\$625.00
51	30	C.Y.	PATHWAY BARK	\$60.00	\$1,800.00
52	3105	L.F.	CEMENT CONC. TRAFFIC CURB AND GUTTER	\$25.00	\$77,625.00
53	250	L.F.	CEMENT CONC. PEDESTRIAN CURB	\$30.00	\$7,500.00
54	305	L.F.	PLASTIC LINE (YELLOW)	\$7.00	\$2,135.00
55	500	L.F.	PLASTIC WIDE LANE LINE (WHITE)	\$7.00	\$3,500.00
56	150	L.F.	PLASTIC WIDE LANE LINE (YELLOW)	\$7.00	\$1,050.00
57	9	EACH	PLASTIC TRAFFIC ARROW	\$200.00	\$1,800.00
58	300	S.F.	PLASTIC CROSSWALK LINE	\$8.00	\$2,400.00
59	100	L.F.	PLASTIC STOP LINE	\$10.00	\$1,000.00
60	1.1	HUND	RECESSED PAVEMENT MARKER	\$2,500.00	\$2,750.00
61	1	L.S.	TRAFFIC SIGNAL SYSTEM & ILLUMINATION SYSTEM COMPLETE	\$280,000.00	\$280,000.00
62	1	L.S.	PROJECT TEMPORARY TRAFFIC CONTROL	\$120,000.00	\$120,000.00
63	1	L.S.	SHORING OR EXCAVATION CLASS B	\$5,000.00	\$5,000.00
64	1	L.S.	TYPE B PROGRESS SCHEDULE	\$3,000.00	\$3,000.00
65	2500	TON	GRAVEL BACKFILL FOR WALL	\$30.00	\$75,000.00
66	150	MGAL	WATER	\$50.00	\$7,500.00
67	1505	S.Y.	CEMENT CONC. SIDEWALK	\$45.00	\$67,725.00
68	8	EACH	CEMENT CONC. CURB RAMP TYPE PARALLEL A	\$2,000.00	\$16,000.00
69	95	S.Y.	CEMENT CONC. DRIVEWAY ENTRANCE TYPE 1	\$80.00	\$7,600.00
70	1795	L.F.	COATED CHAIN LINK FENCE TYPE 4 (BLACK)	\$25.00	\$44,875.00
71	150	L.F.	COATED CHAIN LINK FENCE TYPE 4 WITH SLATS (BLACK)	\$30.00	\$4,500.00
72	340	L.F.	TEMPORARY FENCE	\$10.00	\$3,400.00
73	14900	S.F.	GRAVITY BLOCK WALL	\$35.00	\$521,500.00
74	400	TON	GRAVEL BACKFILL FOR DRAIN	\$30.00	\$12,000.00
75	2	EACH	OVERFLOW WEIR	\$300.00	\$600.00
76	20	S.Y.	CEMENT CONCRETE PAD FOR BUS SHELTER	\$140.00	\$2,800.00
77	1	L.S.	TRIMMING AND CLEANUP	\$5,000.00	\$5,000.00
78	3800	S.Y.	CONSTRUCTION GEOTEXTILE FOR SEPARATION	\$5.00	\$19,000.00
79	1	EST.	REIMBURSEMENT FOR THIRD PARTY DAMAGE	\$5.00	\$5.00
80	1	CALC	MINOR CHANGE	\$25,000.00	\$25,000.00
81	1	L.S.	SPCC PLAN	\$2,000.00	\$2,000.00
82	315	C.Y.	CONCRETE CLASS 300 FOR LEVELING PAD	\$350.00	\$110,250.00
CONTRACT TOTAL					\$2,255,485.00

	NORDLAND CONSTRUCTIO		PORT MADISON ENTERPRISES		BPCI EARTHWORKS	
#	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	\$140,000.00	\$140,000.00	\$133,150.00	\$133,150.00	\$35,712.00	\$35,712.00
2	\$25,000.00	\$21,250.00	\$19,154.00	\$16,280.90	\$93,950.00	\$79,857.50
3	\$30,000.00	\$30,000.00	\$20,885.00	\$20,885.00	\$19,363.00	\$19,363.00
4	\$7,500.00	\$7,500.00	\$3,234.00	\$3,234.00	\$2,813.00	\$2,813.00
5	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
6	\$5.00	\$1,500.00	\$4.40	\$1,320.00	\$4.35	\$1,305.00
7	\$5.00	\$34,250.00	\$6.03	\$41,305.50	\$7.70	\$52,745.00
8	\$20.00	\$48,500.00	\$19.71	\$47,796.75	\$25.00	\$60,625.00
9	\$50.00	\$1,000.00	\$35.00	\$700.00	\$28.00	\$560.00
10	\$7.00	\$7,910.00	\$5.41	\$6,113.30	\$6.67	\$7,537.10
11	\$40.00	\$1,600.00	\$30.14	\$1,205.60	\$30.00	\$1,200.00
12	\$30.00	\$6,000.00	\$22.71	\$4,542.00	\$50.00	\$10,000.00
13	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
14	\$400.00	\$3,600.00	\$250.00	\$2,250.00	\$235.00	\$2,115.00
15	\$600.00	\$1,200.00	\$491.00	\$982.00	\$618.00	\$1,236.00
16	\$1,200.00	\$7,200.00	\$905.00	\$5,430.00	\$1,131.00	\$6,786.00
17	\$1,400.00	\$12,600.00	\$1,191.00	\$10,719.00	\$1,282.00	\$11,538.00
18	\$2,400.00	\$9,600.00	\$2,206.00	\$8,824.00	\$2,626.00	\$10,504.00
19	\$2,000.00	\$2,000.00	\$504.00	\$504.00	\$416.00	\$416.00
20	\$100.00	\$1,500.00	\$74.23	\$1,113.45	\$76.00	\$1,140.00
21	\$35.00		\$38.59		\$39.88	
22	\$70.00	\$24,430.00		\$26,935.82		\$27,836.24
23	\$25.00	\$7,770.00	\$64.54	\$7,163.94	\$73.00	\$8,103.00
24		\$81,250.00	\$24.00	\$78,000.00	\$30.00	\$97,500.00
25	\$35,000.00	\$35,000.00	\$4,000.00	\$4,000.00	\$6,700.00	\$6,700.00
26	\$32.00	\$92,320.00	\$30.63	\$88,367.55	\$28.00	\$80,780.00
27	\$32.00	\$25,600.00	\$36.68	\$29,344.00	\$47.00	\$37,600.00
28	\$80.00	\$172,800.00	\$99.27	\$214,423.20	\$90.00	\$194,400.00
29	\$350.00	\$2,800.00	\$218.00	\$1,744.00	\$193.00	\$1,544.00
30	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.00	\$2,944.00	\$2,944.00
31	\$28.00	\$3,080.00	\$27.22	\$2,994.20	\$26.27	\$2,889.70
32	\$50.00	\$8,000.00	\$50.34	\$8,054.40	\$50.00	\$8,000.00
33	\$60.00	\$1,500.00	\$58.08	\$1,452.00	\$56.53	\$1,413.25
34	\$400.00	\$3,200.00	\$445.00	\$3,560.00	\$460.00	\$3,680.00
35	\$7,000.00	\$2,100.00	\$21,873.00	\$6,561.90	\$7,695.00	\$2,308.50
36	\$10.00	\$5,000.00	\$6.82	\$3,410.00	\$3.33	\$1,665.00
37	\$15,000.00	\$15,000.00	\$34,078.00	\$34,078.00	\$10,692.00	\$10,692.00
38	\$4.00	\$1,200.00	\$3.95	\$1,185.00	\$4.00	\$1,200.00
39	\$7.00	\$1,400.00	\$7.36	\$1,472.00	\$7.25	\$1,450.00
40	\$24.00	\$3,120.00	\$24.08	\$3,130.40	\$24.00	\$3,120.00
41	\$37.00	\$1,295.00	\$37.66	\$1,318.10	\$36.50	\$1,277.50
42	\$4.00	\$400.00	\$5.86	\$586.00	\$4.00	\$400.00

42	\$12.00	\$1,800.00	\$12.55	\$1,882.50	\$12.25	\$1,837.50
43	\$15.00	\$2,250.00	\$15.35	\$2,302.50	\$15.00	\$2,250.00
44	\$34.00	\$4,590.00	\$34.88	\$4,708.80	\$33.75	\$4,556.25
45	\$29.00	\$2,175.00	\$29.29	\$2,196.75	\$28.50	\$2,137.50
46	\$34.00	\$2,550.00	\$34.88	\$2,616.00	\$34.00	\$2,550.00
47	\$29.00	\$5,075.00	\$29.29	\$5,125.75	\$28.50	\$4,987.50
48	\$34.00	\$850.00	\$34.88	\$872.00	\$34.00	\$850.00
49	\$46.00	\$1,150.00	\$47.35	\$1,183.75	\$46.00	\$1,150.00
50	\$39.00	\$975.00	\$39.45	\$986.25	\$38.00	\$950.00
51	\$63.00	\$1,890.00	\$74.00	\$2,220.00	\$59.00	\$1,770.00
52	\$15.00	\$46,575.00	\$15.50	\$48,127.50	\$12.25	\$38,036.25
53	\$30.00	\$7,500.00	\$22.50	\$5,625.00	\$18.90	\$4,725.00
54	\$8.00	\$2,440.00	\$9.37	\$2,857.85	\$8.25	\$2,516.25
55	\$3.50	\$1,750.00	\$4.02	\$2,010.00	\$3.50	\$1,750.00
56	\$6.00	\$900.00	\$6.70	\$1,005.00	\$5.90	\$885.00
57	\$100.00	\$900.00	\$120.53	\$1,084.77	\$106.00	\$954.00
58	\$6.00	\$1,800.00	\$6.70	\$2,010.00	\$5.90	\$1,770.00
59	\$6.00	\$600.00	\$10.71	\$1,071.00	\$9.50	\$950.00
60	\$1,600.00	\$1,760.00	\$1,874.00	\$2,061.40	\$1,650.00	\$1,815.00
61	\$240,000.00	\$240,000.00	\$258,875.23	\$258,875.23	\$275,574.00	\$275,574.00
62	\$60,000.00	\$60,000.00	\$93,660.00	\$93,660.00	\$165,279.00	\$165,279.00
63	\$15,000.00	\$15,000.00	\$4,251.00	\$4,251.00	\$995.00	\$995.00
64	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00
65	\$25.00	\$62,500.00	\$30.00	\$75,000.00	\$27.00	\$67,500.00
66	\$75.00	\$11,250.00	\$50.00	\$7,500.00	\$6.00	\$900.00
67	\$37.00	\$55,685.00	\$35.31	\$53,141.55	\$31.00	\$46,655.00
68	\$1,300.00	\$10,400.00	\$1,342.00	\$10,736.00	\$1,295.00	\$10,360.00
69	\$60.00	\$5,700.00	\$54.83	\$5,208.85	\$46.00	\$4,370.00
70	\$16.00	\$28,720.00	\$19.26	\$34,571.70	\$17.00	\$30,515.00
71	\$22.00	\$3,300.00	\$25.19	\$3,778.50	\$22.15	\$3,322.50
72	\$4.00	\$1,360.00	\$4.80	\$1,632.00	\$5.00	\$1,700.00
73	\$31.50	\$469,350.00	\$30.00	\$447,000.00	\$32.67	\$486,783.00
74	\$30.00	\$12,000.00	\$29.91	\$11,964.00	\$27.00	\$10,800.00
75	\$1,500.00	\$3,000.00	\$1,392.00	\$2,784.00	\$375.00	\$750.00
76	\$100.00	\$2,000.00	\$54.83	\$1,096.60	\$46.00	\$920.00
77	\$10,000.00	\$10,000.00	\$12,500.00	\$12,500.00	\$6,100.00	\$6,100.00
78	\$4.00	\$15,200.00	\$1.07	\$4,066.00	\$2.00	\$7,600.00
79	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00
80	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00
81	\$500.00	\$500.00	\$1,000.00	\$1,000.00	\$400.00	\$400.00
82	\$175.00	\$55,125.00	\$228.05	\$71,835.75	\$264.50	\$83,317.50
		\$2,007,600.00		\$2,049,689.01		\$2,111,742.04

	CECCANTI		ACTIVE CONSTRUCTION		RODARTE CONC. INC.	
#	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	\$146,000.00	\$146,000.00	\$246,707.36	\$246,707.36	\$195,000.00	\$195,000.00
2	\$15,000.00	\$12,750.00	\$55,000.00	\$46,750.00	\$30,000.00	\$25,500.00
3	\$34,000.00	\$34,000.00	\$25,000.00	\$25,000.00	\$10,000.00	\$10,000.00
4	\$3,000.00	\$3,000.00	\$1,200.00	\$1,200.00	\$2,000.00	\$2,000.00
5	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
6	\$3.00	\$900.00	\$5.50	\$1,650.00	\$2.75	\$825.00
7	\$5.00	\$34,250.00	\$7.00	\$47,950.00	\$6.00	\$41,100.00
8	\$31.00	\$75,175.00	\$19.00	\$46,075.00	\$32.00	\$77,600.00
9	\$48.00	\$960.00	\$33.50	\$670.00	\$75.00	\$1,500.00
10	\$14.00	\$15,820.00	\$5.50	\$6,215.00	\$7.50	\$8,475.00
11	\$35.00	\$1,400.00	\$44.00	\$1,760.00	\$50.00	\$2,000.00
12	\$42.00	\$8,400.00	\$49.00	\$9,800.00	\$70.00	\$14,000.00
13	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
14	\$535.00	\$4,815.00	\$450.00	\$4,050.00	\$225.00	\$2,025.00
15	\$490.00	\$980.00	\$350.00	\$700.00	\$550.00	\$1,100.00
16	\$890.00	\$5,340.00	\$1,300.00	\$7,800.00	\$1,100.00	\$6,600.00
17	\$1,100.00	\$9,900.00	\$1,300.00	\$11,700.00	\$1,200.00	\$10,800.00
18	\$2,500.00	\$10,000.00	\$2,650.00	\$10,600.00	\$2,600.00	\$10,400.00
19	\$725.00	\$725.00	\$450.00	\$450.00	\$650.00	\$650.00
20	\$49.00	\$735.00	\$120.00	\$1,800.00	\$95.00	\$1,425.00
21	\$41.00		\$45.50		\$50.00	
		\$28,618.00		\$31,759.00		\$34,900.00
22	\$150.00	\$16,650.00	\$72.00	\$7,992.00	\$90.00	\$9,990.00
23	\$24.00		\$30.00		\$40.00	
		\$78,000.00		\$97,500.00		\$130,000.00
24	\$50,000.00	\$50,000.00	\$5,000.00	\$5,000.00	\$25,000.00	\$25,000.00
25	\$24.00	\$69,240.00	\$23.25	\$67,076.25	\$30.00	\$86,550.00
26	\$27.00	\$21,600.00	\$32.00	\$25,600.00	\$35.00	\$28,000.00
27	\$85.00	\$183,600.00	\$80.00	\$172,800.00	\$85.00	\$183,600.00
28	\$700.00	\$5,600.00	\$350.00	\$2,800.00	\$400.00	\$3,200.00
29	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$2,750.00	\$2,750.00
30	\$24.00	\$2,640.00	\$25.00	\$2,750.00	\$47.00	\$5,170.00
31	\$46.00	\$7,360.00	\$46.00	\$7,360.00	\$65.00	\$10,400.00
32	\$54.00	\$1,350.00	\$53.00	\$1,325.00	\$55.00	\$1,375.00
33	\$490.00	\$3,920.00	\$650.00	\$5,200.00	\$450.00	\$3,600.00
34	\$5,875.00	\$1,762.50	\$11,000.00	\$3,300.00	\$7,000.00	\$2,100.00
35	\$13.00	\$6,500.00	\$3.00	\$1,500.00	\$7.00	\$3,500.00
36	\$48,000.00	\$48,000.00	\$30,000.00	\$30,000.00	\$18,000.00	\$18,000.00
37	\$4.00	\$1,200.00	\$3.50	\$1,050.00	\$2.75	\$825.00
38	\$7.00	\$1,400.00	\$6.50	\$1,300.00	\$2.75	\$550.00
39	\$22.00	\$2,860.00	\$22.00	\$2,860.00	\$9.00	\$1,170.00
40	\$34.00	\$1,190.00	\$34.00	\$1,190.00	\$18.00	\$630.00
41	\$4.00	\$400.00	\$3.00	\$300.00	\$2.75	\$275.00

42	\$12.00	\$1,800.00	\$11.00	\$1,650.00	\$9.00	\$1,350.00	
43	\$14.00	\$2,100.00	\$14.00	\$2,100.00	\$9.00	\$1,350.00	
44	\$32.00	\$4,320.00	\$32.00	\$4,320.00	\$18.00	\$2,430.00	
45	\$27.00	\$2,025.00	\$26.00	\$1,950.00	\$18.00	\$1,350.00	
46	\$32.00	\$2,400.00	\$32.00	\$2,400.00	\$18.00	\$1,350.00	
47	\$27.00	\$4,725.00	\$26.00	\$4,550.00	\$9.00	\$1,575.00	
48	\$32.00	\$800.00	\$32.00	\$800.00	\$18.00	\$450.00	
49	\$43.00	\$1,075.00	\$43.00	\$1,075.00	\$18.00	\$450.00	
50	\$36.00	\$900.00	\$36.00	\$900.00	\$18.00	\$450.00	
51	\$55.00	\$1,650.00	\$55.00	\$1,650.00	\$60.00	\$1,800.00	
52	\$19.07	\$59,212.35	\$13.00	\$40,365.00	\$22.00	\$68,310.00	
53	\$23.55	\$5,887.50	\$23.00	\$5,750.00	\$28.00	\$7,000.00	
54	\$8.00	\$2,440.00	\$8.00	\$2,440.00	\$8.00	\$2,440.00	
55	\$3.00	\$1,500.00	\$3.00	\$1,500.00	\$3.50	\$1,750.00	
56	\$6.00	\$900.00	\$5.00	\$750.00	\$5.50	\$825.00	
57	\$95.00	\$855.00	\$100.00	\$900.00	\$100.00	\$900.00	
58	\$6.00	\$1,800.00	\$5.00	\$1,500.00	\$5.50	\$1,650.00	
59	\$9.00	\$900.00	\$9.00	\$900.00	\$9.00	\$900.00	
60	\$1,500.00	\$1,650.00	\$1,500.00	\$1,650.00	\$1,600.00	\$1,760.00	
61	\$287,711.46	\$287,711.46	\$240,000.00	\$240,000.00	\$225,000.00	\$225,000.00	
62	\$231,520.94	\$231,520.94	\$200,000.00	\$200,000.00	\$95,000.00	\$95,000.00	
63	\$2,500.00	\$2,500.00	\$500.00	\$500.00	\$100.00	\$100.00	
64	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$1,500.00	\$1,500.00	
65	\$31.00	\$77,500.00	\$20.00	\$50,000.00	\$30.00	\$75,000.00	
66	\$110.00	\$16,500.00	\$73.00	\$10,950.00	\$35.00	\$5,250.00	
67	\$30.03	\$45,195.15	\$32.00	\$48,160.00	\$43.00	\$64,715.00	
68	\$1,580.98	\$12,647.84	\$1,500.00	\$12,000.00	\$1,500.00	\$12,000.00	
69	\$55.33	\$5,256.35	\$55.00	\$5,225.00	\$55.00	\$5,225.00	
70	\$16.00	\$28,720.00	\$15.00	\$26,925.00	\$20.00	\$35,900.00	
71	\$21.00	\$3,150.00	\$20.00	\$3,000.00	\$30.00	\$4,500.00	
72	\$6.00	\$2,040.00	\$7.00	\$2,380.00	\$5.50	\$1,870.00	
73	\$26.00	\$387,400.00	\$33.00	\$491,700.00	\$40.00	\$596,000.00	
74	\$18.00	\$7,200.00	\$38.00	\$15,200.00	\$35.00	\$14,000.00	
75	\$1,100.00	\$2,200.00	\$3,500.00	\$7,000.00	\$1,500.00	\$3,000.00	
76	\$90.00	\$1,800.00	\$55.00	\$1,100.00	\$60.00	\$1,200.00	
77	\$35,000.00	\$35,000.00	\$5,000.00	\$5,000.00	\$3,500.00	\$3,500.00	
78	\$2.00	\$7,600.00	\$2.25	\$8,550.00	\$3.25	\$12,350.00	
79	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	
80	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	
81	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	
82	\$125.00	\$39,375.00	\$190.00	\$59,850.00	\$275.00	\$86,625.00	
		\$2,220,802.09			\$2,237,234.61		\$2,332,915.00

	MILES RESOURCES, LLC		SOUND EXCAVATION, INC.		WHH NISQUALLY FEDERAL	
#	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	\$56,317.67	\$56,317.67	\$160,000.00	\$160,000.00	\$240,000.00	\$240,000.00
2	\$68,900.00	\$58,565.00	\$48,500.00	\$41,225.00	\$75,000.00	\$63,750.00
3	\$12,100.00	\$12,100.00	\$35,000.00	\$35,000.00	\$20,000.00	\$20,000.00
4	\$40,000.00	\$40,000.00	\$15,000.00	\$15,000.00	\$1,000.00	\$1,000.00
5	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
6	\$2.25	\$675.00	\$7.00	\$2,100.00	\$2.00	\$600.00
7	\$6.85	\$46,922.50	\$4.00	\$27,400.00	\$9.00	\$61,650.00
8	\$51.00	\$123,675.00	\$23.00	\$55,775.00	\$35.00	\$84,875.00
9	\$185.00	\$3,700.00	\$50.00	\$1,000.00	\$27.00	\$540.00
10	\$24.50	\$27,685.00	\$8.00	\$9,040.00	\$5.00	\$5,650.00
11	\$91.00	\$3,640.00	\$35.00	\$1,400.00	\$32.00	\$1,280.00
12	\$67.00	\$13,400.00	\$30.00	\$6,000.00	\$34.00	\$6,800.00
13	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
14	\$3,015.00	\$27,135.00	\$2,000.00	\$18,000.00	\$500.00	\$4,500.00
15	\$445.00	\$890.00	\$850.00	\$1,700.00	\$1,000.00	\$2,000.00
16	\$1,450.00	\$8,700.00	\$900.00	\$5,400.00	\$1,200.00	\$7,200.00
17	\$1,500.00	\$13,500.00	\$1,000.00	\$9,000.00	\$1,500.00	\$13,500.00
18	\$2,800.00	\$11,200.00	\$2,250.00	\$9,000.00	\$4,000.00	\$16,000.00
19	\$280.00	\$280.00	\$700.00	\$700.00	\$500.00	\$500.00
20	\$560.00	\$8,400.00	\$35.00	\$525.00	\$72.00	\$1,080.00
21	\$85.00	\$59,330.00	\$32.00	\$22,336.00	\$62.00	\$43,276.00
22	\$179.00	\$19,869.00	\$55.00	\$6,105.00	\$85.00	\$9,435.00
23	\$31.75	\$103,187.50	\$30.00	\$97,500.00	\$40.00	\$130,000.00
24	\$560.00	\$560.00	\$9,000.00	\$9,000.00	\$5,000.00	\$5,000.00
25	\$41.75	\$120,448.75	\$28.00	\$80,780.00	\$28.00	\$80,780.00
26	\$54.75	\$43,800.00	\$27.00	\$21,600.00	\$31.00	\$24,800.00
27	\$79.50	\$171,720.00	\$97.00	\$209,520.00	\$86.00	\$185,760.00
28	\$440.00	\$3,520.00	\$900.00	\$7,200.00	\$1,700.00	\$13,600.00
29	\$16,500.00	\$16,500.00	\$4,000.00	\$4,000.00	\$2,800.00	\$2,800.00
30	\$33.00	\$3,630.00	\$80.00	\$8,800.00	\$25.00	\$2,750.00
31	\$52.80	\$8,448.00	\$85.00	\$13,600.00	\$47.00	\$7,520.00
32	\$60.50	\$1,512.50	\$65.00	\$1,625.00	\$55.00	\$1,375.00
33	\$325.00	\$2,600.00	\$750.00	\$6,000.00	\$300.00	\$2,400.00
34	\$1,650.00	\$495.00	\$8,500.00	\$2,550.00	\$5,000.00	\$1,500.00
35	\$5.50	\$2,750.00	\$12.00	\$6,000.00	\$3.00	\$1,500.00
36	\$20,100.00	\$20,100.00	\$60,000.00	\$60,000.00	\$15,000.00	\$15,000.00
37	\$5.50	\$1,650.00	\$3.80	\$1,140.00	\$4.00	\$1,200.00
38	\$5.50	\$1,100.00	\$6.50	\$1,300.00	\$7.00	\$1,400.00
39	\$11.00	\$1,430.00	\$21.25	\$2,762.50	\$23.00	\$2,990.00
40	\$13.20	\$462.00	\$32.00	\$1,120.00	\$35.00	\$1,225.00
41	\$12.00	\$1,200.00	\$3.80	\$380.00	\$4.00	\$400.00

42	\$9.90	\$1,485.00	\$10.75	\$1,612.50	\$12.00	\$1,800.00
43	\$12.10	\$1,815.00	\$13.00	\$1,950.00	\$14.00	\$2,100.00
44	\$11.00	\$1,485.00	\$29.50	\$3,982.50	\$33.00	\$4,455.00
45	\$14.30	\$1,072.50	\$25.00	\$1,875.00	\$27.00	\$2,025.00
46	\$12.10	\$907.50	\$29.50	\$2,212.50	\$33.00	\$2,475.00
47	\$16.50	\$2,887.50	\$25.00	\$4,375.00	\$27.00	\$4,725.00
48	\$15.40	\$385.00	\$29.50	\$737.50	\$33.00	\$825.00
49	\$14.30	\$357.50	\$39.50	\$987.50	\$44.00	\$1,100.00
50	\$14.30	\$357.50	\$33.50	\$837.50	\$37.00	\$925.00
51	\$60.50	\$1,815.00	\$60.00	\$1,800.00	\$57.00	\$1,710.00
52	\$12.50	\$38,812.50	\$14.00	\$43,470.00	\$16.00	\$49,680.00
53	\$18.50	\$4,625.00	\$20.00	\$5,000.00	\$22.00	\$5,500.00
54	\$3.30	\$1,006.50	\$7.35	\$2,241.75	\$3.50	\$1,067.50
55	\$3.85	\$1,925.00	\$3.15	\$1,575.00	\$4.50	\$2,250.00
56	\$5.50	\$825.00	\$5.25	\$787.50	\$4.50	\$675.00
57	\$110.00	\$990.00	\$95.00	\$855.00	\$140.00	\$1,260.00
58	\$6.60	\$1,980.00	\$5.25	\$1,575.00	\$6.00	\$1,800.00
59	\$9.90	\$990.00	\$8.50	\$850.00	\$7.00	\$700.00
60	\$2,750.00	\$3,025.00	\$1,500.00	\$1,650.00	\$3,600.00	\$3,960.00
61	\$256,800.00	\$256,800.00	\$256,148.00	\$256,148.00	\$266,000.00	\$266,000.00
62	\$197,000.00	\$197,000.00	\$195,000.00	\$195,000.00	\$87,000.00	\$87,000.00
63	\$560.00	\$560.00	\$10,000.00	\$10,000.00	\$13,000.00	\$13,000.00
64	\$500.00	\$500.00	\$1,000.00	\$1,000.00	\$2,800.00	\$2,800.00
65	\$18.50	\$46,250.00	\$28.00	\$70,000.00	\$27.00	\$67,500.00
66	\$17.25	\$2,587.50	\$50.00	\$7,500.00	\$60.00	\$9,000.00
67	\$24.00	\$36,120.00	\$31.00	\$46,655.00	\$40.00	\$60,200.00
68	\$1,330.00	\$10,640.00	\$1,600.00	\$12,800.00	\$1,600.00	\$12,800.00
69	\$38.75	\$3,681.25	\$40.00	\$3,800.00	\$54.00	\$5,130.00
70	\$19.00	\$34,105.00	\$19.50	\$35,002.50	\$20.00	\$35,900.00
71	\$30.50	\$4,575.00	\$28.00	\$4,200.00	\$31.00	\$4,650.00
72	\$11.50	\$3,910.00	\$3.10	\$1,054.00	\$3.00	\$1,020.00
73	\$38.00	\$566,200.00	\$35.65	\$531,185.00	\$42.00	\$625,800.00
74	\$18.50	\$7,400.00	\$30.00	\$12,000.00	\$27.00	\$10,800.00
75	\$2,500.00	\$5,000.00	\$6,000.00	\$12,000.00	\$500.00	\$1,000.00
76	\$42.00	\$840.00	\$40.00	\$800.00	\$54.00	\$1,080.00
77	\$10,200.00	\$10,200.00	\$10,000.00	\$10,000.00	\$1,500.00	\$1,500.00
78	\$1.00	\$3,800.00	\$7.00	\$26,600.00	\$1.50	\$5,700.00
79	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00
80	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00
81	\$500.00	\$500.00	\$1,000.00	\$1,000.00	\$5,000.00	\$5,000.00
82	\$160.00	\$50,400.00	\$200.00	\$63,000.00	\$260.00	\$81,900.00
		\$2,377,918.17			\$2,368,707.25	\$2,481,453.50